LLYES

BEE(mm)/32E KE(m)

M : 8mm=0.1mm

{2

)X | 8 |[BASK42T~-4200M 0.420[ +0.020[ 4,200
> | _ |[BASK42T-6600M 0.420| +0.020| 6,600
s | ® |[BASK58T-3200M| 0.580| +0.020| 3,200
> | ® [BASK60T-3200M 0.600| +0.020| 3,200
2 4 BASK60T-5000M 0.600( +0.020| 5,000
* BASK75T-4200M 0.750| +0.030| 4,200
v | ® |paskosTpb-3000M| 0.950| +0.030| 3,000
¥ * |[BASK40K-4200M 0.400] +0.020] 4,200
7 ° IBASK60K—-3200M 0.600( +0.020[ 3,200
Fa - [BASK68K-3000M 0.680| +0.020| 3,000
7 | ® [BASK31T-4200M 0.310] +£0.020f 4,200|0402H
; R |[BASK42T-3200M 0.610| +0.020f 3,200(060 3H
+ | # |IBASK61T-3200M 0.610| +0.020| 3,200
v | #® |[BASK65T-3000M 0.650| +0.020|f 3,000
° | ® |[BASK75T-4200M 0.750( +0.030| 4,200
,;, : MPC31-4200M 0.310] +£0.020] 4,200|0402H
& MPC42-3500M 0.420| +0.020f 3,500|0603H
smui| BASK31TAG—-4200M 0.310] £0.020| 4,200
. |BASK15KAG-4200M 0.150] £0.020| 4,200
BASK20KAG-4200M 0.200( £0.020| 4,200
- [BASK31KAG-4200M 0.310f +0.020| 4,200
X EER(E—HITT

M : 8mm=0.1mm

A/3ZE(mm) B/3ZE(mm) P1/3E(mm) PO/ASE(mm) K'Y/ZE(mm) T/ZZ(mm) g2
04 0 2 R|0.260/+0.020 [ 0.460/+0.020 | 2.000/%0.050 | 4.000/%0.100 [0.15-0.17|£0.020 | 0.310]=0.020
04 0 2 Cl0.250 +0.020 [ 0.450/+0.020 | 2.000|+0.050 | 4.000|+0.100 | 0.23-0.25 | £0.020 | 0.310|%0.020
0 6 0 3 R|0.380/20.020 | 0.680 %0.020 | 2.000|+0.050 | 4.000 +0.100 | 0.26-028 | +0.020 | 0.420 +0.020
0 6 0 3 Cl0.360 +0.020 [ 0.660/+0.020 | 2.000|+0.050 | 4.000|+0.100 | 0.36-0.38 | £0.020 | 0.420|+0.020
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M : 8mm=0.1mm

XARREFERLSEEERDBENDDET

% A/ZZE(mm) B/ZE(mm) P1/35E(mm) PO/ZE(mm) T/ZE(mm)  {@E

1 005 [0.620[+0.030 [ 1.120 +0.030 | 2.000 +0.050 [ 4.000]+0.100 | 0.400[+0.030
1 005 |0.650[+0.030 | 1.150 +0.030 | 2.000 +0.050 | 4.000 +0.100 | 0.600]+0.030
1 6 0 8 |1.020/+0.050 | 1.820 +0.050 | 2.000 +0.050 | 4.000 +0.100 | 0.600|+0.030
1 6 0 8 |1.050[+0.050 | 1.850 +0.050 | 4.000 +0.100 | 4.000 +0.100 | 0.750]+0.050
2 01 2 |1.600 +0.050 | 2.350 +0.050 | 4.000 +0.100 | 4.000|+0.100 | 0.950]+0.050
321 6 |2.000%0.050|3.500 +0.050 | 4.000 0.100 | 4.000|%0.100 | 0.950/|+0.050
X FER(E—HITT




